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OO01ue moJIoKeHus

Pe3synbrarom ocBoeHus y4eOHOM NUCIUIUIMHBI SIBJSIOTCS OCBOCHHBIE YMEHHUS U
YCBOCHHBIE  3HAHWSA,  HaNpaBJeHHble Ha  (QOPMHUPOBAHHE  OOMMX U
po(hecCHOHATBHBIX KOMIIETSHIIUMN.

®dopmoii aTtrectannu 1o yuyeOHon nucturuinHe sBiasercs JDK (1l cemectp) u
yctHbIH 3k3amen ( 1V cemectp).
HTorom sk3amMeHa SIBIIIETCS KaueCTBEHHAs OlleHKa B Oayiax oT 2-X 10 5-TH.

Paznen 1. Pe3yabTarbl OCBOeHHsI Y4eOHOH JAUCHMIUIMHBI, MOJJIeKALIUE
NnpoBepKe
1.1. OcBoeHHbIE YMEHHUA

B pe3ynbpTaTe KOHTPOJIS U OLEHKU MO y4eOHOW NUCLUUIUIMHE OCYIIECTBIISAETCS
KOMIUIEKCHAsI POBEPKA CIAEAYIOUINX YMEHUM:
yMeTb:
Y 1. OO6Omarecas (yCTHO W THCBMEHHO) Ha MHOCTPAHHOM SI3BIKE Ha
po(hecCHOHANFHBIE U TIOBCETHEBHBIE TEMBI.
VY 2. IlepeBoauTh (CO CIOBAPEM) MHOCTPAHHBIE TEKCThI MPOPECCUOHATBHOU
HaIPaBJIEHHOCTH.
Y 3. (CaMOCTOATENIbHO COBEPUICHCTBOBAaTh YCTHYK) MW IIUCBMEHHYIO peEub,
MIOTIOJIHATH CJIOBAPHBIN  3arac.

1.2. YcBoeHHbIE 3HAHUS

B pe3ynbTaTe KOHTPOJIS U OIICHKH 0 y4eOHOM AUCITUTUIMHE OCYIIECTBIISIETCS
IIPOBEPKA CICAYIOIIMX 3HAHUM:
3HATh:
3 1. Jlexcuueckuii (1200 neKCMYECKUX €IWHMI]) U TPaMMATHUYECKUA MHHUMYM
HEOOXOMMMBIA [IJIs1 YTEHHUS W TepeBoAa (Co cloBapeM) HMHOCTPAHHBIX TEKCTOB
npodeccuoHaTbHON HANPaBICHHOCTH.

1.3 ®opmupyemMble 001Me KOMIIETEHIIUU

B pe3ynbpTaTe KOHTPOJS U OLUEHKU MO Y4eOHOW TUCHUIUIMHE OCYIIECTBIISIETCS
poBepKa CPOPMHUPOBAHHOCTH CIETYIOIIUX OOIINUX KOMITETEHIMNA:

OK 1. IloHumarh CyIIHOCTh U COLUAJIBHYIO 3HAYUMOCTh CBOEH OymyIieit
npodeccuu, MposIBIATh K HEW YCTOMUYMBBIA UHTEPEC.

OK 2. Opranu3oBbIBaTh COOCTBEHHYIO JEATEIbHOCTb, BHIOMPATh TUIIOBBIE METObI
W CHocoObl  BBIMOJHEHUS  MPO(PECCHOHANBHBIX  3aJad, OIICHUBATh  UX
() PEKTUBHOCTH U KA4E€CTBO.

OK 3. [IpunumaTh penieHus B CTaHAAPTHBIX U HECTAHAAPTHBIX CUTYyallUIX U HECTH
32 HUX OTBETCTBEHHOCTb.

OK 4. OcymiecTBasiTh MOUCK U UCIOIb30BaHUE HHPOPMAIUMKA, HEOOXOIUMON ISt
3 PEeKTUBHOTO BBITIOTHEHUS MPOGECCHOHAIBHBIX 3ajJ1ad, MPO(EeCcCHOHATBLHOTO U
JUYHOCTHOTO PA3BUTHUS.



OK 5. MHcnonb3oBath WHGOPMAIMOHHO-KOMMYHUKAIIMOHHBIE TEXHOJIOTUU B
poecCUOHANTEHOM eI TEIEHOCTH.

OK 6. PaGorath B koMaHze, 3PPEKTUBHO 0OIIATHCS C KOJUIETaMH, PYKOBOACTBOM,
NOTPEOUTENSIMHU.

OK 7. bparb OTBETCTBEHHOCTHb 3a pabOTy YJICHOB KOMAaHbl (TIOJYUHEHHBIX),
pe3ynbTaT BBIMOJHEHUS 3a/IaHUH.

OK 8. CaMOCTOSTENbHO ONpEeAesITh 3aa4u MPOPECCUOHAIBHOTO U JIMYHOCTHOTO
Pa3BUTHS, 3aHUMAThCSI CaMOOOPa30BaHUEM, OCO3HAHHO MJIAHUPOBATH MOBBIIICHHUE
KBaJTU(DUKALTAH.

OK 9. OpuentupoBaTbCcsi B YCIOBHUSIX YaCTOM CMEHbl TEXHOJIOTUH B
poecCUOHaNBbHOMN eI TEIbHOCTH.

1.4 ®opmupyembie NPopeccCHOHATbHbIE KOMIIETEHIMH

[IK 1.1. BbINOaHATH Omepanuy 1Mo OCYIIECTBICHUIO MEPEBO30YHOTO MpoIecca ¢
NPUMEHEHUEM COBPEMEHHBIX HMH(GOPMAIMOHHBIX TEXHOJOTHH  yNpaBiIeHUs
NepeBO3KaMH.

I[IK 1.3. Odopmiaars JOKYMEHTBI, PETJIaMEHTUPYIOIIUE  OpPTaHU3aIMIO
IIEPEBO30YHOIO MpoLEecca.

[IK 3.1. OpranuzoBbiBaTh pabOTy IepcoHaga Mo 00pabOTKe MEePEBO30YHBIX
JOKYMEHTOB W OCYUIECTBJICHHIO pAacu€TOB 3a YCIYyIH, MPEIOCTaBIISIEMBbIC
TPAHCIIOPTHBIMU OPTraHU3aALUSIMHU.

[1K 3.3. IIpumensTs B npodecCHOHANBHON JIEITETbHOCTH OCHOBHBIE TOJIOKEHUS,
pEryJIMPYIONINE B3aMMOOTHOILIEHHUS MOJIb30BATEIEH TPAHCIIOPTAa U IIEPEBO3YHUKA.

Paznen 2. ®opMbl KOHTPOJISI U OLIEHHBAHMSI 10 Y4e€OHOM TMCUUIIIIMHE
Taomuma 1

®opMa TeKyLIero KOHTPOJIs U
OLlCHUBAHMS

Pa3znen / Tema y4eOHOM AUCHUNIIMHBI

11l CEMECTP

BBenenue B cienimaabHOCTD.

Dkunax cymaHa, GQyHKIIMOHATbHBIC
00S3aHHOCTH YICHOB DKUITIAXKA.
O0s13aHHOCTH CYI0BOJAUTEIICH.
MoganabHbI€E TJIaroyibl U UX DKBUBAJIEHTHI.

TectupoBanue (ycTHOE U
MMCbMEHHOE), YCTHBIH OIpocC.

OKckypcus Ha cyaHo. [ToaroroBka cynHa

K OTXO#Y. TectupoBanue (yCTHOE U
Bpewmsi Past Progressive/ MUCbMEHHOE), YCTHBIN OIpOC.
Continuous

Most TUTABIPAKTHKA. o TectupoBanue (ycTHOE U
Bpems Future Simple/Indefinite. IMCBMEHHOE), YCTHBII OIpOC,

KOHTpPOJIbHAs paboTa

ITocenienne HTHOCTPAHHOTO MOPTA.
[IpunaTtounsie npeaioxeHus: Bpemenu u | TectupoBanue (ycTHOE U

ycnoBusd (1tum). Bo3BpaTHbie MMCbMEHHOE), YCTHBIH OIpoc.
MECTOMMEHMUSI.




YIi: J®K

IV CEMECTP
Tuner cynos. Kimaccudukammst cyoB.
JIuneitnpie xapakTepucTuku. O01IEe TectupoBanue (ycTHoe u
YCTPOMCTBO CyJIHA. MMCBMEHHOE), YCTHBIH OIpocC,
HaBuranuonusie mpuOopsl 1 KOHTpPOJIbHAsA padoTa

MHCTpYMEHThl. CTpagaTelIbHbII 3aJI0T.

AHTTIOTOBOPSILIAE CTPAHBI.
Benukobputanusi. Y cTHBIN onpoc.
Bpewms Present Perfect.

ABapus B Mope. CniaceHue JroIeH.

Cracenne rpy3a. Bpems Past Perfect YCTHBIH o1poc.

Poccuiickas ®@enepanus.
['eorpadguueckoe nojoxeHue.
I'ocymapcTBeHHOE YCTPOMCTBO. YcTHBIN OIpoc.
Bpemena rpymmebr Perfect B
CTpPaJIaTeJIbHOM 3aJI0Te.

Poccutickuit MOpCKoi TOproBeIid (PIIOT.

Y CTHBIN onpoc.
CornacoBaHue BpeMeH.

[Toptel Poccun. OOBEKTHBIN Magex C

YcTHBIN onpoc.
MH(QUHUTUBOM; TPUYACTHEM.

YI: JK3aMeH

Pa3nen 3. OneHka ocBoeHUs] Y4eOHOI TUCHUTIIUHBI

3.1. O0uue noJI0KeHUs

OCHOBHOI 11€IbI0 OIIEHKHM OCBOCHHS  YYCOHOW MHUCIMIUIMHBI SIBIISETCS
OLICHKA OCBOCHHBIX YMEHUW U YCBOCHHBIX 3HAHUM.

Orenka y4eOHOM JUCHMIUIMHBI TPEeayCMaTpUBaeT HUCIOJIb30BAHUE
HAKOIUTEILHON CHCTEMBI OIICHUBAHUS.

3.2. TunoBwblie 3a1aHus AJIsl OIEHKH OCBOEHUSI Pa3/1eJioB / TeM y4eOHoii

AUCHUIIJINHBI.

TumnoBble 3a1aHus ISl OLIEHKH OCBOCHHUS pa3jesia / tembl 1:
BBencHre B CHENUaabHOCTh. ODKHITAXK CyAHA, (PYHKIIMOHAIBHBIE OOS3aHHOCTH
qwieHOB dkunaxa. OO0sS3aHHOCTH CyJAOMEXaHWKOB. MoJanbHBIE TJarojbl W HX
DKBUBAJICHTEHI.
[TpoBepsiembie pe3ynbTaThl 00y4deHus A TeMbl: Y 1, 2, 3; 3 1;
dopmupyemsie: OK 1,2, 3,4, 5,6, 7, 8, 9, 10;



3ananue 1.
Tell about the Ship’s Crew.

IIpyMepHBIA BAPUAHT OTBETA.

The Ship’s crew

The ship is the world of its own when at sea, and a strict organization is
needed to make it run smoothly.

There are at least two departments on board modern ship: the Deck
Department and the Engine Department. The Chief Officer is the Head of the Deck
Department and the Chief Engineer is the Head of the Engine Department. The
Captain is in command of the ship, he is responsible for the safety of the ship, her
cargo, the passengers and the crew. He must be an experienced navigator. The
Captain is representative of our country when the ship is abroad.

All navigators do watchkeeping on the navigating bridge. They must know
how to define the ship’s position on chart, plot the course on chart and take
bearings. But they have some their own duties.

The Engine Department consists of the Chief Engineer, the Second, the Third,
The Fourth engineers, Electrical engineer, motormen and electricians. They keep
watch in the Engine room and do all daily work and maintenance in the Engine
room.

The boatswain (coxswain) is the leading hand on deck. The boatswain and the
sailors must keep the ship’s hull, holds and tackle in good condition.

On different types of ships several other crew members may be needed.

Only well-qualified seamen can perform their duties properly.

3ananmne 2.
Answer the ff. questions. Tell about the Duties of engineers, using your
answers.

How many departments are there on board modern ship? What are they?
Who is the head of the Deck Department? ( the Engine Department?)
Tell about the Master’s responsibilities.
What is the Chief Engineer responsible for?
What are the main duties of :
a) the Second Engineer,
b) the Third and the the Fourth Engineers?
6. Where do they keep watch?
7. Are ship engineers required knowledge of written and spoken English?
For what purpose?
8. What kind of specialist must every ship engineer be?

gk wh e

IIpumepHBIN BapUaHT OTBETA.

Duties of ship engineers.



There are at least two departments on board modern ship: the Deck
Department and the Engine Department. The Chief Officer is the Head of the Deck
Department and the Chief Engineer is the Head of the Engine Department. The
Captain is in command of the ship, he is responsible for the safety of the ship, her
cargo, the passengers and the crew. The Master is responsible for the ship in all
cases.

All engineers keep watch in the engine-room. They are required knowledge of
written and spoken English adequate to communicate in multilingual crew, to
understand information and messages concerning the ship’s safety and operation,
to read special literature and technical documents, to write List of orders and List
of repairs.

The Engineering staff comprises the Chief Engineer, the Second, the Third,
the Fourth Engineers, Electrical Engineer, some motormen and electricians. All of
them keep watch in the engine- room. But they have their own duties.

The Chief Engineer is responsible for the whole power unit. His duty is to
check up and sign daily the official engine-room log-book. He is also to see that
fuel, water and technical supplies delivered to the ship are properly tested.

The Second Engineer is responsible for the work of the main engine,
refrigerating plant, air-conditioning system and steering gear.

The Third Engineer is responsible for the fuel system, for the work of
diesel generators, compressors and life-saving appliances. He is responsible for the
fuel reception and its distribution.

The Fourth Engineer is responsible for the proper state and efficient work of
boilers, pumps, sewage and ship’s service systems and deck machinery.

Motormen do every day work and prophylactic repairs.

Electricians work in the engine-room and see to generators, motors and
switchboard.

Every ship engineer must be well-qualified specialist to perform his duties

properly.

3aganue 3.
TekceT 3a1aHus.
Choose the correct variant.

1. | To keep in order a. [TpoBepsaTh

2. | Multilingual crew b. Pacniucanme mo TpeBoram

3. | Nautical publications ¢ | B coorsercreue

4. | Up-to date d. CopepxaTh B IOPSIAKE
Muster List €. CHabxaThb

6. | Safety f. TpebGoBath




7 Knowledge of written and spoken [IpotuBomoxapHoe
" | English o0opy0oBaHuE
8. | To perform one’s duties properly B pabouem cocTostHIH
: S : 3HaHWE MUCHbMEHHOTO U
9. | Fire extinguishing equipment .
Pa3roBOPHOTO aHTIUHCKOTO
10. | To require [Tocnenuuii, COBpeMEHHBIH
11. | According to Mopckue myOauKanum
. . BeimonHsATh 00s13aHHOCTH
12. | In operational condition
JOJDKHBIM 00pa3omM
13. | To check = to inspect = to examine MHOTrOS3bIYHBIN KUIIAXK
14. | To supply be3omacHOCTh

Otsetnl: 1d;2m;3K;4j;5b;6n;71i;81;99;10f,11c¢c; 12 h; 13 a; 14 e.

3aganmue 4.
TekeT 3a1aHus.

TEST - 20 min
Manning

Test 1 (2 min) Match the name of the department and its members:

l.
Il.
1.
V.

Deck department a) Chief engineer
Engine department b) radio officer
Radio department c) cook
Catering department d) motorman

e) master

f) pumpman

g) steward

h) chief mate

1) able seaman j) boatswain
k) efficient deck hands

1) carpenter

m) donkeyman

n) second engineer
0) second mate

Test 2 (3 min) Choose the correct English variant to the given Russian

1)

words or word combinations:

KarT-KOMIIaHH

a) gangway  b) messroom C) compartment




2)  wmarpoc I kiacca

a) able seaman (AB) Db) ordinary seaman (OS) c¢) efficient deck hands

(EDH)
3)  nwWIma psAIoBOTO COCTaBa
a) ratings b) officers C) petty officers

4)  numedaoK
a) catering department b) saloon  c) galley
5)  Oouman
a) carpenter  b) turner C) boatswain
6) HECTH OTBETCTBEHHOCTH 3a YTO-JI100
a) to look for b) to be responsible for c) to be responsible to
7)  ciemuTh 3a
a)toseeto  Db)tolookin c) to look through

Test 3 (3 min) Find words to match these definitions:

1) master a) a worker in timber as used in building ships

2) chief engineer b) a man in charge of stores

3) cook c) one who uses a lathe

4) carpenter d) the manager of provision department on board a ship;
5) steward attendant on a ship’s passengers

6) boatswain e) one who prepares food by heat
7) storekeeper f)aman in charge of a ship, her cargo and her crew

8) turner g) the man in charge of the engineering department
h) a foreman of a crew, who looks after a ship’s boats, rig-
ging, flags

Test 4 (3 min) Indicate the word or word combination, which doesn't suit the row:

1. a) master b) chief engineer c) radio officer d) seaman

2. a) steward b) cook c) able seaman

3. a) chief engineer b) pumpman c) boatswain d) motorman

4. a)to be in charge of b) to be responsible for c) to look after

5. a)toconsist of b)to contain c) to include d) to keep

6. a)toperform b)todo c) to watch d) to carry out

Test 5 (3 min) Decide which answer a), b), ¢) best fits the space:
1. The man in charge of a ship is the ... .

a) chief engineer

b)master

c) ship owner
2. The master is responsible to the ... for the safety of the ship.

a) shipping company

b)classification society

c)designers of a ship
3. Chief steward is responsible for the ....

10



a) Engineer department
b)radio communication
c) Catering department
4. The responsibility of an electrical officer is ... .
a) maintenance and repair of an electrical equipment
b)looking after the boiler
C) ship’s materials and technical supplies
5. The second engineer sees to a good working order of... .
a) main engine and systems
b)deck machinery
C) ship’s auxiliary boiler

Test 6 (2 min) Choose the correct preposition:/
1.  The man ... charge of a ship is the Master,

a) at b) in c) with
2. Chief Engineer is assisted ... a Second, Third and Fourth Engineer,
a) by b) on c) between

3.  The Catering department is ... the Chief Steward,
a)with  b)under c¢)at

4.  The master is responsible ... the safety of the ship, her cargo and her crew.

a) for b) of ¢) with
KEYS
Test . Manning
Test 1.
l.e,h,1,j, K, 1, 0.
Il.a, d, f, m, n.
. b.
V. ¢ g
Test 2.
lb; 2a; 3a; 4a; 5c; 6b; 7a.
Test 3.
1f; 2g; 3e; 4a; 5d; 6h; 7b; 8c.
Test 4.
lb; 2¢; 3c¢; 4c¢; 5d; 6¢.
Test 5.
Ib; 2a; 3c; 4a; Sa.
Test 6.

lb; 2a; 3b; 4a.

TumnoBble 3a1aHus ISl OLIEHKH OCBOCHHUS pa3jesia / TeMbl 2:
Dkckypeus Ha cyaHo. [Toaroroeka cyaHa k otxoay. Bpems Past Progressive/
Continuous.

[TpoBepsiembie pe3ynbTaThl 00y4deHus s TeMbl: Y 1, 2, 3; 3 1;
dopmupyemsie: OK 1,2, 3,4, 5,6, 7, 8, 9, 10;

11



3ananme 1.

TekcT 3apanus.

Make up sentences according to the model.

Moaeanb: When the cadets came the ship’s cook was preparing dinner.

Crew The work they were performing

the Master to prepare for the departure

the Chief Mate to overhaul the main engine

the Second Mate to regulate the navigational equipment
the Third Mate to paint the hull

the Chief Engineer to check the life saving equipment
the Second Engineer to make entries into the log-book
the Third Engineer to wash and scrub the deck

the motormen to talk to a pilot
the pumpman to unload the cargo
the electricians to plot the course
the Radio-Officer to repair the air-conditioning system
the Radio Operator  to give commands
the sailors to lubricate the pumps
the Boatswain to tune the radio devices
3ananue 2.
Tekcr 3apanusa
Test.

Kpurepmuii oneHku 3HaHUI
Ouenka «oTnyHo» ctaBuTcs 3a 100 % - 95 % (10-12) mpaBUIIbHBIX OTBETOB.
OmeHka «xoporo» craButcs 3a 94 % - 75 % (8-9) mpaBmwibHBIX 0TBeTOB. OlieHKa
«yIOBJICTBOPUTEIILHO» cTaBUTCS 3a 74 % - 50 % (6-8) mpaBUIIBHBIX OTBETOB.
Ecnu xypcaHT BbIoHUI npaBuwiibHO MeHee 50 % (6 3amaHwuii), TO OH MOJTy4yaeT
OLIEHKY «HEYIOBJIETBOPUTEILHOM.

«Continuous Tenses»
I.  Vkaxute OyKBOI, B KAKOM BpEMEHH YIOTpeOiseTcs ckazyemoe. (3 MHH.)
1. The cadets are making an experiment now.
2. She was watching TV yesterday from 9 till 10.
3. At present he is working at the diploma paper.
4. Tomorrow at 3 p.m. they will be playing basketball in our gym-hall.
I1. They were writing a test from 12 till 13 two days ago.
a) Present Continuous  b) Past Continuous ¢) Future Continuous
1. YkaxuTe OykBOI1 COOTBETCTBYIOIIYIO (pOpMY Ilarosia B ckoOkax. (5 MUH.)
— The cadet (to answer) a teacher's question when | came,

a) answer b) was answering C) is answering

— They (write) test now.

a) are writing  b) were writing C) written

3. I (work) at my report from 3 till 5 o’clock tomorrow.

a) am working  b) is working c) shall be working

12



4. He is busy. He (to prepare) for his exams.

a) is preparing  b) will be preparing C) were preparing
5. Please call me later. I (to watch) an interesting film now.
a) are watching b) am watching ) was watching

IV. Ykaxute OykBOI ITpaBUIIbHBIN OTBET. (4 MUH.):

What is your friend doing now?
He was reading a book.

He is reading a book.

He will be reading a book.

o T

What were you doing yesterday at 6 o’clock?
| am doing my homework.

| did my homework.

| was doing my homework.

o oT® N

3. Where are you hurrying to?
a) |am hurrying home.

b) | hurried home.

c) I'll hurry home.

4. Where will you be taking an exam in math tomorrow?
a. | am taking the exam today.

b. 1shall be taking the exam tomorrow morning.

c. |took the exam yesterday.

OTBer
|.1-a, 2-b, 3-a, 4-c, 5-b
I1.1-b, 2-a, 3-c, 4-a, 5-b
[11.1-b, 2-c, 3-a, 4-b

TunoBble 3aaHNs 1JIs1 OLIEHKH OCBOEHHS pa3aesa / TeMbl 3:
Mos mnaBnpakTuka. Bpemst Future Simple/Indefinite.

[TpoBepsiembie pe3ynbTaThl 00ydeHus s Temul: Y 1, 2, 3; 3 1;
dopmupyemsie: OK 1,2, 3,4,5,6, 7, 8, 9, 10;

3aganue 1.
TexkcT 3a71aHuA.

Study the list of words, learn them.

Cnucok HEKOTOPBIX MEXAHU3MOB I 00paOOTKH TPY30B.
Some Cargo-Handling Machinery

crane — xpax

13



quay crane — 6eperoBoii KpaH

floating crane — miaByunii kpax

crawler crane — xpaH Ha T'yCEHUYHOM X0y
railway crane — ske1e3HOAOPOIKHBIN KpaH
heavy-lift crane — TspkenoBeCHBIH KpaH

bridge crane — MmocToBOi1 KpaH

gantry — moprajibHbIi KpaH

mobile/truck crane; autocrane — aBTokpan
transporter — tpascioprep

grab bucket unloader — pa3rpy3ounas mammHa ¢ rpeii)epHBIM KOBIIOM
self-propelled truck — aBromorpy3unk

fork-lift truck — BuIOYHBIN TOrPy3YHK
side-loader — morpy3uuk ¢ GOKOBBIM 3aXBaTOM
heavy-lift derrick — TspxenoBecHast ctpena
sling — ctpon

canvas sling — mapycuHOBEI cTpom

cargo sling — rpy3oBoii cTpon (rpy30BOii 3aXBar)
chain sling — memnHoli cTporm

rope sling — neHbKOBBIH CTPOII

wire sling — crasbpHO# (TPOBOJIOYHBII) CTPOI
net — rpy3oBas ceTka (CETOYHBIN CTPOI)
container claws — 3axBat

shackle — ckoba

bale fork — 3axBat 115 TIOKOB

holderbat — 3axBat 1151 TpyO; ck00Oa
part-gripper— 3axsat Juis JeTajiei

tray — JIOTOK 114 rpy3a

pallet — mommoH, miomnaaka

winch — nebenka

hook — kprox

guy(guy line) — oTTspxka

platform sling (board sling) — rpy3oBas muioraaka

3aianue 2:
TekeT 3a1aHus.

a) Answer the ff. questions. Tell about your practice, using your answers.

1. Where do the students of port operation department have their practice?
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How many ports are there in Kholmsk? What are they?
What do the students do in the port?

What persons do they deal with?

What cargo-handling machinery can we see in the port?

oW

b) Translate from Russian into English.

My future practice.

The cadets of the Port Operation department will not sail. They will work in ports
and board ships during their training (mpakrtuka)

On graduating from the college (o oxonuanuro yunnuma) we’ll work as
stevedores or port operators. We’ll supervise the cargo work (pykoBoAHUTb
rpy3oBbiME pabotamu), loading and unloading the cargo, secure the ship with
sufficient number of gangs (oGecrieunTh CyTHO JOCTATOYHBIM KOJTHYECTBOM
opuran) and cargo-handling machinery (mexanu3smel 111 00pabOTKH TPYy30B),
organize transporting cargoes from the ship to the sheds or
warehouses(oprann3oBath MepPeBO3KY IPY30B C CYHA ITOJ] HABECHI M Ha CKIIAIBI).

We shall inspect the holds before the beginning of cargo work. The holds and
other compartments must be clean, dry and well ventilated (aired). We’ll make
entries concerning (oraHocutenbHo) time of starting and completing work, duration
of any stoppages (mpoaomKUTEeILHOCTD TIepephIBOB B padoTe) With reasons for
them (ux mpu4nHBI).

3aganue 3.

TekeT 3a1aHus
TEST

Kpurepuii oueHku 3HaHUHI
Ouenka «ommaHO» ctaButcs 3a 100 % -95 % (10-12) npaBuiIbHBIX OTBETOB.
OmeHka «xoporo» craButcs 3a 94 % - 75 % (8-9) mpaBmwibHBIX 0TBeTOB. OlieHKa
«YIOBJICTBOPUTEIIbHO» cTaBUTCS 3a 74 % - 50 % (6-8) mpaBHIIBHBIX OTBETOB.
Ecnmu xypcanT BbImosmHWI npaBwibHO MeHee S50 % (6 3amanuii), TO OH moOJdyYaer
OLIEHKY «HEYIOBJIETBOPUTEILHOM.

«Indefinite Tenses»
|. Ykaxxute HOMepa IpeyIoKEHHH, B KOTOPhIX yroTpedisercs Present Indefinite
Tense. (3 muH.)
He studied at the academy two years ago.
His friend lives in the hostel.
She lived near my parents' house.
| get a grant.
He does not live in the hostel.

oW E
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I1.Ykaxxure HOMEpa npeaIoKeHN, B KOTOphIX yrotpebmnsercs Past Indefinite
Tense. (3 muH.)

We attend lectures every day.

| did not work after school.

Did you live in Artem?

Do you know English well?

He worked in the port last year.

We didn't have shipboard training last summer.

onkwbdrE

I11.Vkaxxute HOMepa peIIoKeHHH, B KOTOphIX yroTpeonsercs Future Indefinite
Tense. (3 muH.)
1.  shall go out of town tomorrow.
2. He works as an engineer.
3. We often go to the library.
4.  They will have summer vacations soon.
5. We shall be radio-engineers in 4 years.

IV.VkaxuTte OykBOil mpaBWIIbHBIN EPEBO/I IIaroJjia-ckazyemoro. (3 MuH.)

1. S ydyCh B HHCTHUTYTE.

a) study b) studied c) shall study

2. Buepa s 3aHumMarcs B 6ubimnoreke.

a) study b) studied c) shall study

3. OH MHOT0 paboTaeT B J1a00paTOPHH.

a) work b) works ¢) worked d) will work

4, Buepa o Taxke pabortan B 1abopaTopuu.

a) work b) works ¢) worked d) will work

V. Vkaxure OyKBOM COOTBETCTBYIOIIYIO OTPHIIATENIbHYIO (hopMy riarosnia-
cka3zyemoro. (3 MuH.)

1. They study special subjects. a) do not study

2. studied in the library yesterday. b) does not study
3. He studies German. ¢) did not study
4. They will study French next year. d) shall not study
5. She studies her English hard. e) will not study
6.  We shall study two foreign languages.

VI. Ykaxute OyKBO# MpaBUIIbHBIA KPaTKHid OTBET Ha BOIpoc. (3 MuUH.)
1. Do you study German? a) Yes, | shall.
2. Will you become a radio-engineer? b) No, I shall not.
3. Did you have English every week? ¢) No, I don’t.
4. Will you go to the academy on Sunday? d) No, | did not.
e) Yes, | do.
OTBeThI
1.2,4,5
11.2,3,5,6
111.1,4,5



IV.1-a, 2-b, 3-b, 4-c
V.1-a, 2-c, 3-b, 4-¢, 5-b, 6-¢
Vl1.1-e, 2-a, 3-d, 4-b

3ajganmue 4.
TekcT 3ag1aHus.
Do the test paper.
TEST-PAPER
Variant |
|. Open the brackets.

1) The navigators usually (to keep) watch on the navigating bridge.
2) Our motorman (to lubricate) the pumps tomorrow.
3) We (to have) our shipboard training last summer.

I1. Make the sentences interrogative and negative.
1) The cadets were at the port yesterday.
2) My friend speaks English well.
3) The dockers will unload the cargo in some hours.

[11. Ask the questions to underlined words.
1) The engineers work in the engine-room.
2) Bob studied English at the college 3 years ago.
3) I shall work in the garden next Sunday.

[V. Insert the prepositions.
1) He studies ....... the college.
2) My friend is fond ....... pop music.
3) This ship very often calls ....... our port.

TEST-PAPER
Variant 11

I. Open the brackets.
1) The radiomen usually (to keep) watch in the radio-room.
2) The watch officer (to take) bearings of the coastal object some minutes
ago.
3) We (to operate) ships soon.

I1. Make the sentences interrogative and negative.
1) Our cadets will have their shipboard training next summer.
2) Nick Novikov was in Moscow last year.
3) The sailors paint the deck every month.

I11. Ask the questions to underlined words.
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1) He repaired his car yesterday.
2) We clean the flat every Sunday.
3) Mr. Borisov will live in Riga in 2 years..

IV. Insert the prepositions.

1) My mother goes ....... bed very late.
2) The helmsman keeps watch ....... the wheel.
3) He goes to the college ....... 8 o’clock.

Tumnosble 3a1aHusl 1JIsI OLEHKH OCBOCHUSA pa3jesia / TeMbl 4:

[Tocemenre nHOCTpaHHOTO MOpTa. [IpUaaToOYHbIE MPEII0KECHNUS BPEMCHH U
ycioBus (1tum). Bo3BpaTHbIE MECTOMMEHHUSL.

[IpoBepsiembie pe3yabTaThl 00yueHus ajis temsl: ¥ 1, 2, 3; 3 1;
dopmupyemsie: OK 1,2, 3,4,5,6, 7, 8, 9, 10;

3ajganme 1:
Read and act. Make up your own dialogues.

How can | get to ...?

Excuse me.

Yes?

Where is the post office, please?
It’s over there.

Thank you very much.

That’s all right.

Where can | buy stamps and send a letter?

You can buy stamps at the post office round the corner.
Is it far from here?

No, it’s opposite the museum.

Excuse me.

Yes, can | help you?

Yes, could you tell me the way to the toy shop?

It’s in Pembroke Street. Cross the street and turn right at the corner.
Thank you.

Excuse me. Is this the right way to the bookshop?
Yes, it is. Go straight ahead. It’s over there.
Thank you very much.

Not at all.

Can you tell me how to get to the market?
Well, you can take a taxi or a bus.
How far is it?
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— It’s about two miles.

VI.

—  Can you help me, please? What’s the best way to get to this address?
— | think by bus but you can go on foot.

VII.

—  Can you tell me where the police station is?

—  Turn right and go straight ahead.

—  Thank you very much.

—  That’s all right.

VIII,

—  How can | get to the supermarket from here?

—  Go along Queen Street. Turn right. The supermarket is on your left.
—  Thank you.

—  You’re welcome.

IX.

—  EXxcuse me.

—  Yes?

— Is there a bus station near here?

—  Yes, there is.

— lsitfar?

—  No, itisn’t very far. Go past the post office and turn right into Queen Street.
—  Thank you.

—  You’re welcome.

Tunosble 3a1aHus 1JIsl OLIEHKU OCBOEHUsI pa3jiesia / TeMbl 5:
Tunet cynoB. Knaccudukarnus cynoB. JluneitHbie xapaktepuctuku. OOriee
YCTPOMCTBO cynHa. HaBuramuoHHbie MPHUOOPHI M1 MHCTPYMEHTHI. CTpamaTebHBIN
3aJIoT.
[IpoBepsiembie pe3yabTaThl 00yueHus ais temsl: ¥ 1, 2, 3; 3 1;
dopmupyemsie: OK 1,2, 34, 5,6, 7, 8,9, 10;

3axanue 1.
TekeT 3apanus.
TEST PAPER Variant 1

I. Read and translate, make sentences negative and interrogative:
1. Our ship is repaired once a year.
2. Odessa was founded by Suvorov in 1794.
3. The new plan will be discussed tomorrow.

I1. Ask questions to the underlined words:
1. The first atomic icebreaker was put into operation in 1959.
2. Ferries are intended to transport passengers and cars.
3. The crew will be allowed to go ashore
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I11. Change sentences into Passive:
1. Popov invented radio.
2. The dockers will load extra-weights on deck tomorrow.
3. Bulk-carriers carry different bulk cargo.

TEST PAPER Variant Il

I. Read and translate, make sentences negative and interrogative :

1. The vessel was repaired a month ago.

2. The cadets will be ordered to stay at the college next Saturday.

3. The pilot is taken aboard in this canal.

I1. Ask questions to the underlined words:

1. The Antarctic was discovered by Bellingshausen and Lazarev.

2. Barges are built for specific duties.
3. The heavy-lifts will be discharged in an hour.

I11. Change sentences into Passive:
1. Admiral S. O. Makarov designed the icebreaker “Jermak™.
2. Tankers carry oil products.
3. The students will discuss important problems.

3aganue 2.
TekcT 3a1aHu9.

Translate the ff. dimensions.

Principal particulars of a ship = Dimensions

Length o. a. (overall)

Breadth = beam = width

Height

Freeboard

Draught (draft)

Deadweight

Displacement

Navigational range

Speed

Engine power = total capacity = total
output

Consumption of fuel

3aganue 3.
TekcT 3a1anus.
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Choose the right word and complete the sentences.
1. The main part of a shipisthe.................
2. The................. is equipped with all the modem navigational devices and
instruments.
3. The engines may be................. and.................
4, helps define the ship's position.

5. The total capacity of the engine 1s 1740.................

6. The hull is divided by................. into water-tight compartments.

7. Among modem conveniences are shower-rooms, sauna and.................

8. The engine of this ship does 360 .................

9. The forward part of the hull is called.................

10.The engines can be either from the main remote control station or from the
bridge.

11.The ships of the same type are.................

12.The ship's speed, width, draught, etc. are her.................

130 is used when the ship keeps the same course for a long period

and the weather is favourable.

Radar installation, bulkhead, emergency, ( r.p.m. ), auxiliary, remotely
controlled, dimensions, autopilot, hull, wheel-house, laundry, main, bow,
horse power, sister-ships.

3aganmue 4.

TekcT 3a1aHu.

Read the text and ask each other the questions according to the text.
My future profession.

| study at the Port Operation Department of the Sakhalin Branch of Marine
State University. Our Department trains specialists of shipment arrangements and
transport administration.

We study a lot of interesting subjects such as, English, Information
Technology, Commercial Operation of a ship, Cargo work arrangements, Ship’s
Theory and Construction, Marketing, social sciences and others. These subjects
help to train us in our future work.

The cadets of the Port Operation Department have their practical
studies in port and on board ships. They learn how to load, unload (discharge),
tally, stow and store goods of different kinds. They discuss problems of cargo
operations with foreman, stevedores, tallymen, dockers and so on.

After graduating from the University we may get some positions in
Port administration and firms involving cargo-handling work

3ajganmue 5.
TekcT 3a1aHus.

Do the tests.
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TEST - 30 min
Classification of ships
Test 1 (4 min) Match the definitions and the word.
A ship designed to carry boxes.
A cargo ship, which follows no regular route or schedule.
A ship, which doesn’t specialize in carrying any particular type of goods.
A ship, which is used to lay submarine telephone and telegraph.
A small boat, used for towing ships.
A ship, designed to bring damaged ships to port or raise valuable things
from ships, that have sunk.
7. Aship, designed to carry liquid cargo.
8.  Asship, designed to carry both liquid and dry cargo.

ok owdE

a)  coal carrier g) container ship 1) tug

b)  bulk carrier h) OBO ship m) cable-laying ship

c) salvage ship 1) general cargo ship n) reefer

d) liner J) tramp ship 0) launch

e)  research ship K) timber carrier p) dry cargo ship
f)tanker

Test 2 (3 min) Match the abbreviations and corresponding Russian variants:
1. LNG a) CYZHO JIJIsl IEPEBO3KU CKUKEHHBIX HE(TAHBIX Ta30B
2. OBO b) cyneprankep

3. LASH C) cymepoOankep

4. LPG d) cynHO AJig IepeBO3KHU CHKMXKEHHBIX MPUPOIHBIX Ta30B
5. Ro-Ro €) JINXTEPOBO3

6. Lo-Lo f) cynHO ¢ BepTUKaIBbHBIM CIOCOOOM MOTPY3KHU

7. ULCC g) CyTHO C TOPU30HTAIBHBIM CITOCOOOM MOTPY3KH

8. VLBC h) cyano-cnacarens

1) CyTHO oOecrieyeHus

]) HedTepy10BO3
K) KOHTEHHEPOBO3

Test 3 (3 min) Choose the correct English variant to the following Russian
words or word combinations:
1) pedpmwrepaTopHOE CYIHO

a) collier b) OBO ship c) reefer
2) TIepEBO3UTH

a) to carry b) to load c) to discharge
3) kmaccupuIUPOBaTh

a) to divide b) to include c) to classify

4) cokpaiiarb
a) to introduce  b) to reduce c) to take
5) cynmHO s IEPEBO3KH CKUIKEHHOT'O HE(PTIHOTO ra3a

a) LPG b) LNG c) VLCC
6) HOCOBas yacTh Cy/HA
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a) bow b) stern c) bulkhead
7) SKCILTyaTalMOHHAS CKOPOCTh
a) loaded speed Db) service speed c) trial speed

Test 4 (3 min) Decide which answer a), b), ¢) best fits the space:
1. Merchant ships ... to carry cargoes.
a) have designed:;
b)is designed;
c) are designed.
2. Cargo ships can ... into two basic types.
a) to be divided,;
b)be divided;
c) will be divided.
3. Container ships ... containers of standard dimensions.
a) carry;
b)are carried,;
c) have been carried.
4. Multi-deck vessels ... a traditional type of a dry cargo ship.
a)is;
b)was;
c)are.
5. Liquid cargo ... directly into the hold.
a) Is pumped,;
b) pumped;
C) pumps.

Test 5 (3min) Decide which answer a), b) or c) is true:
1. Do passenger ships have high super-structures?
a) no, they don’t;
b) yes, they do;
C) no, they arentt.
2. Many ferries are designed to carry vehicles, aren’t they?
a) yes, they are;
b) no, they don’t;
C) yes, we are.
3. Is the bridge of a tanker connected to the forecastle by a catwalk?
a) yes, there is;
b) no, they aren’t;
C) yes, itis.
4. Can cargo ships be divided into two basic types?
a) yes, they do;
b) yes, they can;
C) yes, they are.
5. Tramps do not keep to a fixed timetable, do they?
a) yes, they are;
b) yes, they do;



C) no, they don’t.

Test 6 (3 min) Choose the correct preposition:

1. Merchant ships can operate ... the following three basic ways,
a)into  b)on c)in

2. Liners are employed ... regular routes,

a) on b) at c) along
3. A list of their arrivals is published ... advance,
a) at b) for ) in
4. In comparison ... cargo vessels, passenger ships are fewer in number and type,
a) with  b) for c)in
5. Liners sail... whether they are full or not.
a) in b) — c) for
6. Tramps do not need to keep ... a fixed timetable,
a) to b) of ¢) through
Test 7 (4 min) Choose the pair of words with similar meaning:
1. a) aship b) a tanker C) a carrier d) a plane
2. a) bulk carrier  b) reefer c) refrigerated ship  d) collier
3. a) last year b) in the future c) at present d) nowadays
4. a) to ply b) to sail c) to leave d) to arrive
5. a) a specialized vessel b) a general cargo ship
C) a rescue ship d) a special purpose ship
6. a) toemploy  b) to use c) to carry d) to operate
7. a) acar carrier Db)abox carrier c)acontainership  d) aferry
8. a) timetable b) schedule ¢) plan d) report

Test 8 (4 Min) Choose the right answer:
1. When is aship in good condition?
a) when she has a lot of cargo on board,;
b) when she is seaworthy;
c) when she needs some kind of repairs.
2. What do we call a room, where all machinery is installed?
a) anengine room;
b) achart room;
C) amessroom.
3. What do we call cargo spaces on board a tanker?
a) holds;
b) tanks;
C) boxes.
4.  What are the double bottom tanks used for?
a) ballast water and fuel;
b) cargoes;
c) fuel.
5. Where is the superstructure of a passenger ship situated?
a) aft;
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b) amidships;
c) fore.

3ananue 6.
TekeT 3aganus.

Do the tests.
TEST - 15 min

Test 1 (2 min) Decide which verb forms are Passive:

1) has completed 7) put 13) were carried

2) was designed 8) will be painted 14) had been varied

3) have been built 9) will have launched 15) can be kept

4) will operate 10) has been handed over  16) should be fitted out
5) is being prepared 11) will have been made

6) sails 12) are discussing

Test 2 (3 min) In each group of sentences indicate the one with the
Passive form of the verb:
Naval architects are designing modern types of ships now.
They design ships to suit the customer’s needs.
A new type of container ship is being designed now at Japanese shipyards.
Cargo ships carry all kinds of cargo.
Bulk cargoes are carried in bulkers.
This ship is carrying not only containers, but general cargo as well.
Classification societies must approve the plans for building ships.
. Naval architects will have approved the plans for building this ship by the
end of the year.
C. After the plans are completed by naval architects they are approved by
classification society.
4. A. When we fit out a ship, we complete her.
B. After we have launched a vessel, we may start fitting her out.
C. When a ship is fitted out, she will be completed.
5. A. We build ships at the shipyards.
B. Today, ships can be built in about sixteen months.
C. To build a ship we must take into consideration economic, engineering and
safety factors.

N
DPOWPHOPB

Test 4 (1 min) Choose correct translation of the predicate:
1. Tankep ObLI MOCTPOEH 3a IIECTh MECSIIIEB,
a) was built b) built
2. CyJa npoeKTHUPYIOTCSI MOPCKUMH apXUTEKTOPAMH,
a) are designed b) are designing
3. Kommanus BBIMOJHUT paOOTy MO YKOMIUIEKTOBAHUIO Cy/IHA K KOHILY Ir0Jia,
a) will have done b) will be done
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4. TlnaHbl AOMKHBI OBITH 0100PEHBI KJIaCCU(UKAIIMOHHBIM OOILIECTBOM,

a) must approve b) must be approved
5. B Hacrosiiiee Bpemsi MallliHbl UCTIOIB3YIOTCS BMECTO PYYHOTO Tpy/ia (JII0ei ),
a) are using b) are being used

Test 5 (2 min) Choose the correct verb form:
1.  Merchant ships ... to carry cargo.

a) design b) are designed c) are designing
2.  Liners ... on regular routes on a fixed timetable.
a) are employed b) employ c) is employed

3. Cargo ships ... into two basic types.
a) can be divided b) are dividing c) will divide
4.  Fruit, meat and dairy produce ... in refrigerated ships.

a) have carried b) are carried C) are carrying
5.  The bridge ... to the forecastle by a catwalk.
a) will connect b) are connected C) is connected
6.  The design of a ship ... by economic, engineering and safety factors,
a) will govern b) is governed C) is governing
7. The bulker ... in ten months.
a) was built b) built ¢) had built

Test 6 (2 min) Choose the correct short answer:
1. Are the ships built at the shipyards?
A. Yes, itis.
B. Yes, they are.
C. Yes, they do.
2. Sailing ship «Nadezhda» was launched in 1991, wasn't she?
A. Yes, she was.
B. No, she didn't.
C. Yes, she did.
3. Will this ship be fitted out by outside companies?
A. No, they won't.
B. Yes, she will.
C. Yes, it will.
4. Are tramps being employed on regular routes and on a fixed timetable?
A. No, they aren't.
B. Yes, they will.
C. Yes, they are.

Keys:
Test 1. Classification of ships
Test 1.
lg; 2; 31; 4m; 51; 6¢; 71; 8h.
Test 2.
Id; 2j; 3e; 4a; S5g; 6f; 7b; 8c.
Test 3.
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Ic; 2a; 3c; 4b; Sa; 6a; 7b.
Test 4.
Ic; 2b; 3a; 4c¢; Sa
Test 5.
Ib; 2a; 3c; 4b; 5c.
Test 6.
Ic; 2a; 3c; 4a; 5b; 6a.
Test 7.
lac; 2bc; 3cd; 4ab; Sad; 6ab; 7bc; 8ab.
Test 8.
lb; 2a; 3b; 4a; S5b.
Test (3amanue 6).

Test 1.

2,3,5,8,10,11, 13, 14, 15, 16.
Test 2.

Ic; 2b; 3c¢; 4c; 5b.

Test 3.

la; 2a; 3a; 4b; Sb.

Test 4.

la; 2a; 3a; 4b; Sb.

Test 5.

Ib; 2a; 3a; 4b; 5c; 6b; 7a.
Test 6.

Ib; 2a; 3b; 4a.

3amanue 7.

TekeT 3a1aHud
TEST

Kpurepuii oueHku 3HaHUI
Omnenka «otiamyHO» ctaButcs 3a 100 % - 95 % (10-12) mpaBWIBHBIX OTBETOB.
OreHka «xoporio» craButcs 3a 94 % - 75 % (8-9) nmpaBwibHBIX 0TBETOB. OlieHKa
«yJIOBJIETBOPUTEIILHO» cTaBUTCS 3a 74 % - 50 % (6-8) npaBuabHBIX 0TBETOB. Eciu
KYpPCaHT BBINIOJIHWI TTpaBHiIbHO MeHee 50 % (6 3amaHuil), TO OH NOIY4YaeT OLICHKY
«HEYI0BJIETBOPUTEIILHOM.

«Passive Voice»
|.YkaxuTe mopsaKOBbIi HOMEp MPEIoKEeHHH, B KOTOPBIX yrotpedssiercs Indefinite
Tenses Passive. (3 muH.)
1. He is studying English.
English is studied at our academy.
This theatre will be built next year.
It will be a beautiful building.
The experiment is being made now.
| was told a very interesting story.

Uk wn
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I1.Ykaxxute mopsiAKOBBIN HOMEp NMPEATIOKEHUH, B KOTOPBIX YHOTPeOIsieTcs

Continuous Tenses Passive. (3 muH.)

1. The experiment is being made in that laboratory.

2. The professor is delivering a lecture.

3. This hotel was being constructed the whole year.

4. Peter is taking his exam in math.

5. | saw how his equipment was being tested.

[11.YkaxxuTe mopsAKOBBII HOMEP MPEAI0KEHUH, B KOTOPBIX yroTpeoisiercs Perfect

Tenses Passive. (3 muH.)

1. The report has been listened to with great interest.

2. The students are listening to their teacher.

3. This film was much spoken about.

4. They have been shown the way to the railway.

5. The report will have been done by the end of the term.

IV.VkaxuTte nopsaakoBbIii HOMEP NPEAJIOKEHUHN, B KOTOPBIX CIEAYET YIIOTPEOUTD

Passive Voice. (3 muH.)

1. S momor cBoeMy TOBapHIILy.

2. MHe noMoriu nepeBouTh 3Ty CTATHIO.

3. DTOT JI0M MOCTPOEH OYEHb OBICTPO.

4. DT1OT HUIBEM JEMOHCTPUPYETCS B 3aJ1€.

5. IlpenonaBarenb JEMOHCTPUPYET YUEOHBIH KUHODUIBM.

V. Ykaxurte OykBo# nMpaBmiibHYI0 opMy riarosia B ckoOkax. (4 MuH.)
1. Many interesting books (to sell) in this book-shop.

a) are selling b) are sold c) sold
2. He (to see) two days ago.
a) saw b) have seen C) was seen
3. The pen (to give) to him by me.
a) was given b) will give C) gave
4. He (to show) many interesting places by his friend.
a) shows b) were shown c) will be  shown
OTBeThI
1.2,3,6
11.1,3,5
111.1,4,5
IvV.2,3,4

V.1-b, 2-c, 3-a, 4-c

TunoBble 3a1aHus 1J151 OLIEHKH OCBOEHUsI pa3jieJia / TeMbl 6:
AHrnoroBopsme crpaHbl. BenukoOpuTaHus. Bpems Present Perfect.
[IpoBepsiembie pe3ynbTaTsl 00yueHus aias temol: Y 1, 2, 3; 3 1;
dopmupyemsie: OK 1,2, 34, 5,6, 7, 8,9, 10;

3aganmue 1.
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TekcT 3agaHusl.
Organize tour around London.
YKa3aHHBIN HUKE TEKCT MPEIBAPUTEIIBHO N3y4aeTCsl KypCaHTaMH.

LONDON SIGHTSEEING TOUR.

Hello, ladies and gentlemen. We welcome you to London. London is one of
the largest cities in the world. About seven million people live here. London is
more than two thousand years old. London’s most famous sights are Tower Bridge,
Big Ben and the Houses of Parliament, Trafalgar Square and St. Paul’s Cathedral.
You'’ll see all these places and much more of London from our red double-decker.

We start from Trafalgar Square. On the column in the centre there is a statue
of Admiral Nelson who defeated the French at the Battle of Trafalgar in 1805. To
the left of us you can see the National Gallery. It has a fine collection of European
paintings.

Now we are coming to Piccadilly Circus. It is the meeting point of six streets.

We’ve just passed Piccadilly Circus and now we are making our way to
Buckingham Palace. Look right. We are passing Hyde Park. In the park anyone
can stand up and say what they want. It is a very democratic park.

Now we are at Buckingham Palace. It is the London home of the Queen.
When the flag is flying on the top she is at home. Look, they are changing the
Guard. It happens every day at 11.30 a.m.

We have just turned left and you can see St.,,James’s Park. It is one of the
royal parks. Here you can see pelicans and ducks. There are a lot of parks and
gardens in London. In Regent’s Park there is the London Zoo. It is one of the
biggest zoos in the world.

In front of you, you can see the Houses of Parliament and Big Ben. The
Houses of Parliament is the seat of the British government. Big Ben is one of the
most famous clocks in the world.

In a moment you will see Westminster Abbey. It is a royal church. Here you
can see the tombs of many British kings and queens and other famous people and
the beautiful Henry VII Chapel. Now we are crossing Tower Bridge over the river
Thames. From here you can see the Tower of London. It was a fortress, a royal pal-
ace and later a prison. It is a museum now. There are a lot of interesting collections
in the Tower of London. The ravens are another famous sight. The legend says that
without them the Tower will fall. The Raven Master is the person who gives them
food. Earlier in our tour we saw a famous royal church, Westminster Abbey. We
are now making our way to the second famous church, St. Paul’s Cathedral. It is
the greatest work of the architect Sir Christopher Wren.

We are now going along Fleet Street to the Strand. On the right you’ll see
Covent Garden. It was a big fruit and vegetable market. It is now a tourist
shopping centre with cafes and restaurants. We’ll stop here so that you can go
shopping. Our tour has finished. | hope very much that you have enjoyed this tour
of London. Thank you and goodbye.

TunoBble 3aJaHusl 1JIs1 OLEHKH 0CBOCHHUS pasaejaa / TeMbl 7
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ABapusi B mope. Cnacenme miomeil. Cnacenue rpy3a. Bpems Past Perfect
[TpoBepsiembie pe3ynbTaThl 00yueHus s Temsl: Y 1, 2, 3; 3 1;
dopmupyemsie: OK 1,2, 3,4,5,6, 7, 8, 9, 10;

3aganue 1.

TekcT 3a71aHus.

Read the text and then retell it from the members of the crew.
TekcT

AN ACCIDENT AT SEA

The arrival of the cargo ship lgarka was delayed due to a severe storm
in the North Sea. The wind force was about 20 metres per second and as the
Captain of the Igarka had reported to the shore station it was difficult for the
ship to keep her course.

The ship could make only 2 or 3 miles per watch as her propeller was
seriously damaged. The damage to the propeller had occurred before the
storm began, when a floating log struck against the propeller and damaged it.

Captain Gavrilov decided to continue the voyage and to repair the
propeller at the port of destination. The storm was becoming stronger and
stronger and the wind reached the hurricane force. The ship had a list to
starboard. Due to a considerable pitching and rolling the list was gradually
increasing and soon it reached 25 degrees.

The situation was very dangerous, as the ship could capsize. The
Master ordered the Chief Officer to inspect the holds and to find out what
caused the list.

Soon the Chief Officer returned to the navigating bridge and reported:

“The cargo in holds one and two has shifted to starboard, sir.”

“Had you inspected the holds before leaving Glasgow?”

“Yes, but most probably the cargo wasn’t properly fastened by the
British stevedores.”

Suddenly the list increased and they heard the voice of the Second
Officer:

“Boatswain Gromov has fallen overboard!” “Stop engine! Slow astern!
Steady! Switch on the searchlight!” the Master commanded.

Soon the ray of light pierced the darkness and the seamen saw the man
who was fighting the waves to keep himself on the surface.

“Launch the life-boat. Eight hands in the boat!” ordered the Captain.

The sailors rushed to the life-boat. Pushed by the wind it moved fast
to the Boatswain who was becoming weaker and weaker. Soon the seamen’s
strong hands helped the man out of the water arid some minutes later the
boat and the people were on board ship again.

When the ship’s doctor was rendering the Boatswain the first aid the
crew heard the Captain’s command:

“All hands into holds! Fasten the cargo!”

Everybody rushed to the holds. The sailors did their best to save the
vessel and the cargo. After they had fastened all the shifted boxes, bales and
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bags the list decreased to 10 degrees. The ship could proceed to the port of
destination.

By the time of the arrival the wind and the sea had moderated. The
Igarka moored in the port of Archangelsk with a 35 hours’ delay. One more
voyage was over.

3ananue 2.
TekcT 3a1aHuA
Role- playing “Meeting of the safety navigation department”

3aganue 3.
TekcT 3a1aHus
Tell about:
1) Peter Smirnov.

2) Preparing the crew for the storm.
3) The weather during the storm.

Use the words & expressions given in the text “Hard voyage to London” p. 257-
258, text book by Kitaevich.

TunoBble 3a1aHus 1J151 OLIEHKH OCBOEHUsI pa3jiea / TeMbl 8:
Poccuiickas ®enepanus. ['eorpaduueckoe nonoxenue. ['ocyrapcTBeHHOE
ycTpoicTBo. Bpemena rpynmsi Perfect B crpagarensHoMm 3anore.
[IpoBepsiembie pe3yabTaThl 00yueHus ais temsl: ¥ 1, 2, 3; 3 1;
dopmupyemsie: OK 1,2, 34, 5,6, 7, 8,9, 10;

3ananme 1.
Tekcr 3aganus.
1) Read the text. Make up 5 questions for TV show “What? Where?

When?” on the basis of the text.
2) Choose the most interesting facts and figures to share them with your
foreign friend.

DISCUSSING INFORMATION

Russia: General Information

Poccus: o0masi nHpopmanus

The Russia’s territory covers
17,075 million square kilometres. The
population of Russia is 146.5 million, of
which 83 per cent are Russians. There
are 1,030 towns and cities in this
country. Moscow is its capital.

10 cover — nokpsIBaTh, 3aHUMATh
population — HaceneHue

the coldest point — camas xomoaHas
TOYKa

hemisphere — monymrapue

Siberia — Cubups
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8,879,000 people live in Moscow.

Winters are cold, windy and
snowy, and summers are hot and dry.
Autumn brings rains and fogs. The
coldest point of the northern
hemisphere, where temperatures are mi-
nus 70° C, 1s located in Siberia.

In the north of Russia live the
walrus, seal, white bear, polar fox, and
reindeer. In the forest zone live the bear,
wolf, fox, linx, sable, ermine, elk, roe,
wild boar, and in the Far East the tiger
and leopard.

Among the trees growing in the
European part of Russia are birch, pine
and oak; in Siberia — cedar, larch and
fir-trees, and in the Far East — iron and
cork trees, lotus, ginseng and lianas.

There are 150 volcanoes in
Kamchatka Peninsula, 30 of which are
active.

Three quarters (3/4) of the
country’s minerals and fuels, including
oil, natural gas, coal, diamonds and
gold, are concentrated in Siberia and the

walrus —wmopx

seal — TroyieHb

white bear — Gemblit MeBeIb
polar fox — mosspHas mcuna
reindeer — ceBepHbIii OJICHD
wolf — BoJk

linX — peich

sable —co6oib

ermine — ropHocTaii

elk — moch

roe — KocCyJIsl

wild boar — nukwuii kaban
birch — Gepesa

pine — cocHa

oak —nay6

cedar — kenp

larch — nucrBenHuna
fir-tree — enp

iron tree — »ele3Hoe AepeBo
cork tree — npoOKoBOE JIePEBO
lotus — notoc

ginseng — >keHbIIICHb

liana — nuana

Peninsula — mosyoctpos
ferrous ore — sxenesnas pynaa
the Urals — Ypansckue ropsr
variety — pasnoo0Opasue
famous — 3HaMeHHTHI#

specific crafts — crenuduueckue

pemecina

Far East. There are also ferrous ores | painted box — pacnucHas mkaryJika
near Kursk and in the Urals, where half | wooden tableware — nepepsinnas
of the world’s variety of minerals can be | mocyzaa
found. log house — nepeBsiHHbI 10M (KM30a)
decorated with wood carving —
There are many villages in Russia | ykpaieHHbI# pe3p00ii TI0 AepeBy
famous for their specific crafts: painted | to perform — 30. BoguTh (x0p0600s1)
boxes in Palekh, wooden tableware in | folk chanted rhymes — napoanbie

Khokhloma, and toys in Dymkovo. KYTUICTHI
rode in troikas — karanuch Ha
Log houses, usually decorated with | Tpoiikax

wood carving are typical for Russian
villages.

carriages drawn by teams of three
horses abreast — skunaxu,
3aIPsHKEHHBIE YIIPSIKKON U3 TPEX
JOIAJEH B OTHOM Py

however — oxgnako

Not long ago people in Russian
villages performed traditional




khorovods (a kind of round dance) and
chastushki (folk chanted rhymes) and
rode in troikas (carriages drawn by
teams of three horses abreast). Now
young people prefer modern dances,
motorcycles and motor cars. However,
village residents still prefer to drink tea
from samovars.

Traditional Russian ~ cooking
includes porridges, pancakes, various
aspics, cabbage, chicken and fish soup,
pirozhki (turnovers), and kvass (a
beverage made from fermented rye
bread).

Siberian cuisine has such dishes as
stroganina (frozen fish) and pelmeni
(meat-filled dumplings).

village resident — >xurenb nepeBHU
porridge — kara

pancakes — OJIMHBI

various aspiCcs — pa3jIMuHbIC 3aJIUBHBIC
cabbage soup — mwu

turnover — nUpoOKOK ¢ HAUMHKOU
beverage made from fermented rye
bread — HanmuTOK, N3rOTOBJIEHHBIN U3
APOKIKCBOT'O PIKAHOTO xJjieba

cuisine — KyxHs

cooking — 30. KyxHs

meat-filled dumplings — kirerku ¢
MsSCOM, IICJIBMCHHU

3aganue 2.
TekceT 3a1aHus.
Test.

Tema «Perfect Tenses»
|.YKQKUTE aHTJIMUCKUN SKBUBAJIEHT, COOTBETCTBYIOIIUHU IJIAroJIy- CKa3yeMoMy

pPYCCKOTO MpeyioKeHus. (4 MUH. )

1. S Bugein ero B YNTAJIHLHOM 3aji€ CETOIHS.

a) had seen b) saw

¢) have seen

2. OHU He 3aKOHYMJIN CBOIO PabOTy K KOHITYy MecsIia.

a) has finished

b) had not Finished c) were finished

3. OHa TOJNBKO YTO TIepeBeia HaM MUChMO CBOETO Jpyra u3 AHTIINU.

a) will have translated b) has translated

¢) had translated

4. OHwu 3aK0oHYAT DKCIEPUMEHT K KOHITYy MecCsIIa.

a) will have finished  b) shall finish

¢) had finished

I1.BriGepute n3 yKka3aHHBIX MO OYKBAMHU PYCCKHUX TJIarojioB COOTBETCTBYIONIUE
AHTJIMIICKUM TJIarojiaM KBUBAJICHTHI. (4 MUH.)
1. | have written this composition well.

a) Hamuca b) nmucan

C) MUILLY

2. | cannot enter the room because my son has lost the key.

a) Tepsier b) motepsier

C) moTepsiI
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3. By this time next year they will have learnt a lot of new English words
and expressions.

a) OyayT y4uTh b) BeIydar C) y4dat
4. She had translated the article by 6 o’clock.
a) repeBelia b) nepeBoaut C) ImepeBoanIa

ll.YkaxxuTe OyKBO# MpaBuiibHYI0 (hopMy Ii1aroja B ckoOkax. (3 MuH.)
1. By the end of the year I (to read) two English books,

a) shall read b) will have read c) had read
2. They (to pass) all exams this month.
a) has passed b) had passed ¢) have passed
3. When we care to the station the train already (to start).
a) had started b) started ¢) has started
4. | already (to have) supper.
a) had b) have had c¢) will have
OTBeThI

l. 1-c, 2-b, 3-b, 4-a

1. 1-a, 2-c, 3-b, 4-a

1. 1-b, 2-c, 3-a, 4-b

Tunosble 3a1aHus 1Jisl OLEHKH OCBOEHUsI pa3jiesia / TeMbl 9:
Poccutiickuii Mmopcko#t Toprosaiii piiot. CormacoBaHue BpeMeH.
[IpoBepsiembie pe3yabTaThl 00yueHus ais temsl: ¥ 1, 2, 3; 3 1;
dopmupyemsie: OK 1,2, 3,4, 5,6, 7, 8,9, 10;

3amanmue 1.
TexkeT 3apanusd.

Translate into English.(use information pp. 232-233). Prepare the report.

1) S mpesupent (vice-president, manager, head) cynoxomHoi KoMmmaHUU
(upmsbI-firm).

2) Harmra koMIaHusi HAXOUTCS B....

3) Dto camopuHaHCHpYeMasi OpraHU3arys.

4) Haiia KOMITaHUS YCICIITHO KOHKYPUPYET Ha MHPOBOM ()PaxTOBOM PhIHKE.

5) ®not xoMmaHuU BKJIIOYaeT Koi-Bo cyaoB.( fleet)

6) Cpenu Hux (among them) Tumsl cy0B.

7) Cyna nepeBo3sT pa3Hbie TPY3bl BO MHOTHE CTPaHbl, TakKe Kak (cTp.375)

8) B 3axmoueHuu s .... X04y CKaszaTh, X04y HMPOUH(POPMHPOBATH, XOUY
MPUTIIACUTH K COTPYIHUYCCTRY.

TumnoBble 3a1aHus 11l OLIEHKH OCBOCeHUs pa3jesia / tembl 10:
[Toptel Poccun. OObeKTHBIN NaAeX ¢ MHPUHUTHUBOM; MIPUYACTUEM.
[IpoBepsiembie pe3ynbTaTsl 00yueHus aius temol: Y 1, 2, 3; 3 1;
dopmupyemsie: OK 1,2, 3,4, 5,6, 7, 8, 9, 10;
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3aganmue 1.
TexkeT 3a1anus.
Read the texts. Ask each other the questions.

The port of Kholmsk.

The port of Kholmsk is a commercial sea-port and the sea gate of Sakhalin.
The full name is the Kholmsk Commercial Seaport Joint-Stock Stevedore
Company. It is situated on the SW coast of Sakhalin (the Tatarskiy Strait of the
Japan Sea). The port is ice-free and open to navigation all the year round. The
period from April to October has the most favourable meteorological conditions.
The port is protected by two moles: northern and southern.

The port can handle the middle-tonnage vessels with the draught up to 7 m
and up to 8.5 m at berth No. 8. There are two specialized berths for ferries type of
“Sakhalin” and three berths for handling transport vessels. We can’t say that the
port is highly mechanized but it has different cargo-handling machinery such as
gantry cranes with a capacity from 5 to 40 tons, 35 forklifts and other reloading
machines. The port is rail- linked to the continental system and handles about 100
vans a day. The port handles general cargoes, coal, timber, metal, pipes, containers,
chemicals, fish products. There are covered and open warehouses in the port. There
are also bonded warehouses and the agent company assists consignees in carrying
out some customs formalities. The port includes a maritime terminal with customs,
quarantine, immigration and passenger services.

The high-skilled staff of dockers makes the company one of the leaders
among the Russian ports.

Sakhalin Western Sea Port.

Sakhalin Western Sea Port is located (is situated) on the South Western coast
of Sakhalin Island. The construction of a new port began in 1998 on the base of
Kholmsk maritime fishing port which was in ruins. Sakhalin Western Sea Port was
built to develop a new sector of Sakhalin industry — oil/gas department and it is
used as the supply base for new projects.

The port is ice-free and it is open to navigation all the year round. Now
Sakhalin Western Sea Port is the deepest port in Sakhalin region and is capable
to berth the ships with deadweight up to 10 000 tons. Huge sums were taken to
build the main compartments of the port and high and rail roads.

The port is highly mechanized. The port has numerous facilities and
equipment for handling pipes for pipe-lines, chemicals, containers, cement and
other goods for oil platforms and drilling-rigs. There are different cargo-handling
facilities in the port such as 2 portal cranes with lifting capacity from 30 up to 60
tons, mobile crane with lifting capacity of 90 tons, 6 gantry cranes ,8 fork- lift
trucks, 12 lorries. The cargo is stored in up-to-date opened and covered
warehouses, transit sheds and other storage facilities.

35



Powerful tugs and skilled port specialists provide safe mooring, loading and
unloading operations and all necessary work. Bunkering, fresh water supply, bilge
water collection, Customs and stevedoring service, delivery of dangerous cargoes
are available in the port.

The port is managed by the port operation management of some channels.
800 local employees took part in construction and operation of the port getting job
opportunities.

Sakhalin Western Sea Port is the best example of families success. Sakhalin
Western Sea Port is the most modern and only one specialized port which provides
exploration and development of off-shore oil production. This port contributes
much not only to the local business and the economy of the Far East but also to the
economy of Russia as a whole.

The students of the Port Operation department have their practice in Sakhalin
Western port.

Kpurepuu oneHox.
TecTsl, NpoBepoYHbIe PA0OTHI, OIICHUBAIOTCS 110 MATHOAUTHFHOM IIKaJIe:
«5» - paBUJIbHO BRINOJIHEHO 95 — 100% 3amanuii;
«4» - npaBuIbHO BINOIHEHO 80 — 94% 3amanuid;
«3» - npaBuiIbHO BeINOIHEHO 70 — 79% 3ananuid;
«2» - IpaBUJILHO BBITIOIHEHO MeHee 70% 3amanuil.

4. KOHTpPOJIbHO-OLIEHOYHbIE MATEPUAJIbI /Jisi HMTOrOBOl AaTTecTAMH IO
Y4eOHOM JUCHMIIUHE
O1leHKa OCBOCHHS TUCIMILIMHBI npeaxycMarpuBaet nposeaenue DK (11

cemectp) u dk3ameH ( IV cemectp).

4.1. HanpaB/ieHHOCTh KOHTPOJIbHO-OEeHOYHBIX MaTepuasoB (KOM) nas
UTOr0BOM ATTECTALMH 10 Y4eOHOM TUCUMILIUHE

Hasnayenue:
KOM mnpenna3HayeH Jjisi KOHTPOJIS M OIEHKH PE3YJIbTaTOB OCBOCHMS y4eOHOM
JTACIUILIAHBI .

4.1.1. HanpaBJ/ieHHOCTh OCBOeHHBbIX yMeHuii Ha ¢dopmupoBanme IIK u OK

Tabmuma 2
Koapl mpoBepsieMbIX yMEHUI Konpl kommereHnmii, Ha (HOPMHUpPOBaHHE
KOTOPBIX HaIPaBJICHbl YMECHUS
V123 OK 12 34,56,7,8,9, 10;
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4.1.2. HanpaBJIeHHOCTb YCBOeHHBbIX 3HaHMii Ha ¢opmupoBanue IIK u OK

Taomuna 3
Koapl mpoBepsieMbIX 3HaHHI Komet kommerenmuii, Ha GOpMHpPOBaHHE
KOTOPBIX HaIlpaBJICHbI 3HAHUS
31 OK12,34,56,7,8,9,10;

4.2 TUITOBBIE 3AJTIAHUSA AJIA 1PK IO OCBOEHUIO PA3JIEJIOB /
TEM |1l CEMECTPA.

[TpoBepsiembie pe3ynbTaThl 00y4YeHUs At TeMbl: Y 1, 2, 3; 3 1;
dopmupyemsie: OK 1,2, 3,4,5,6, 7, 8, 9, 10;

YcrHbIE 3a1aHus.

Tell about your future practice in the port.

My future practice.

The cadets of the Port Operation department will not sail. They will work in ports
and board ships during their training. After graduating from the college we’ll work
as stevedores or port operators. We’ll supervise the cargo work , loading and
unloading the cargo, secure the ship with sufficient number of gangs and cargo-
handling machinery , organize transporting cargoes from the ship to the sheds or
warehouses. We shall inspect the holds before the beginning of cargo work. The
holds and other compartments must be clean, dry and well ventilated (aired). We’ll
make entries concerning time of starting and completing work, duration of any
stoppages with reasons for them .

[IcbMEeHHBIN TECT.
NHCcTpyKuMs M0 BBHINOJTHEHUIO 32IaAHUSA.

IIpoBepouHOoe 3amaHMEe  COCTOMT M3  IIMCBMEHHOIO TeCTa Ha 3HAHUE
TEPMHUHOJIOTMM, HCIIOJb3yEMOM IIpU  ONMCAaHMHU CyJAHAa U  IPAaBWIBHOE
WCIIOJIb30BaHUE IPAMMATUYECKUX CTPYKTYP.

Ha Bemmonnenne tecra maercss 30 munyTt. CoOBETyeM BBINOJHATH 3aJJaHUS B
TOM MOPSAKE, B KOTOPOM OHH JaHbl. JlJI1 3KOHOMUM BpPEMEHHM NPOITYyCKauTe
3a/laHue, KOTOPOE HE YIAAETCs BBIIOJHUTHL Cpasy, U MEPEXOJUTE K CIEAYIOLIEMY.
Ecnu nocne BbIONHEHMS BCEl MMCbMEHHOM paboThl, y Bac ocranercs BpeMs, BbI
CMOXETE BEPHYTHCS K IMTPOMYILICHHBIM 33JaHUSIM.
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TEST
Final Translation Test

Variant 1

I. Translate the sentences from Russian into English using Passive Voice.
Mind the Tenses:

1. Cyna npegHa3HaueHbl (COPOCKTUPOBAHBI) HJII TOTO, YTOOBI MEPEBO3UTH

TPY3bl U TACCAKHUPOB.

2. Cynma ToproBoro (haoTta MOTYT KJIacCHU(PHUIIMPOBATHCSI COTIACHO TOMY, UYTO

OHH TIEPEBO3SIT.

3. KonTteitHeps! OyayT MOTpyKEHBI HA OOPT Cy/IHA 3aBTpa K 7 yacaMm Beuepa.

4. Ha 1mpoekT CyIHa OKa3blBalOT BO3JCHCTBUE HKOHOMHYECKUE,

TexHU4Yeckue (HakTopsl U (PaKTopsl 0€30MaACHOCTH.

5. CynHo ere He pa3rpy3uiy.

6. Cyxol MaccoBbIil rpy3 NEPEBO3UTCS HABATIOM.

7. B HacTtosiee BpeMsl OOJBUIMHCTBO IMACCAXKUPCKUX CYAOB CTPOUTCA Ha

EBPOIECUCKUX CyI0BepPsX.

8. HedrepynoBo3 pasrpy3uiiu Buepa.

9. HoBelif TaHKep IS TEPEBO3KHA CKIKEHHOTO MPUPOTHOTO Ta3a Oyjaer

MIOCTPOEH B CJIEIYIOIIEM TOLTY.

10. Buepa k 5 yacam Bedepa rpy3 ObLT JOCTABJICH K MPUYATY.

I1. Give the corresponding Russian equivalents to the following technical
abbreviations:

LNG, VLCC, OBO, kts, loa, kW, MCR, nrt, c.p.p., m.

I11. Translate the given text into Russian .

Bergensen's bulker boost

Norwegian operator Bergensen has awarded a contract worth $49 million to

Hyundai Heavy Industries (HHI) for a 172,000 dwt dry bulk carrier.

Due for delivery in 1998, the ice-class vessel will be chartered to British Steel

for 15 years; the first time Bergensen will have chartered a ship for the UK com-

pany.

This is the fourth bulk carrier HHI will have built for Bergensen and it brings he

operator's order book and fleet to 98.

Variant 2
I. Translate the sentences from Russian into English using Passive Voice.
Mind the Tenses:
1. JluneitHble cyna 3aHSThI (MCHOJIB3YIOTCS) HAa PETYISPHBIX MapuipyTax HIpu
(¢uKcHpoBaHHOM TIpadUKe UX JTBUKEHUS.
2. WToroBbie TJIaHbI JTOJDKHBI OBITH OJOOpPEHBI KJacCU(PUKAITMOHHBIM OOIIECT-
BOM.
3. CyaHo pasrpyxajiu Buepa Be4epoM B 7 4acOB.
4. TlepedeHb nat mpuxoa M 0TXoJa MyOJuKyeTcs 3apaHee.
5. 3aBTpa B pedpuxkeparopHbie TpromMa OyayT 3arpy>KeHbl CKOPOMOPTAILIUECS

Ipy3bl.
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6. CymHO MOXKET OBITh IIOCTPOCHO 3a MIECTHAAIATH MECSIIEB.

7. KonteitnepoBo3 BmectumocThio 5000 en. ad> Oymer mnocTpoeH st
KoMITaHuHU «EVergreeny x KoHITy CJIEayIOIIEro rojia.

8. Korma cymHO NpHUIILIO B HOPT, TPY3 YKE OBLI TOCTABIICH K IPUYAITY.

9. Crenuanu3upoBaHHBIC CyJa PEIHAZHAYCHBI JJIsI IEPEBO3KH OJTHOTO OTIpEIe-
JIEHHOT'O THIIa TPYy3a.

10.TTapycnoe cyano «Hanexma» Obuto criyiieHo Ha Boay B 1991 rony.

Il. Give the corresponding Russian equivalents to the following technical
abbreviations:
LPG, LASH, ULCC, RPM, bhp, dwt, TEU, f.p.p., m\ grt.

I11. Translate the given text into Russian:
Hansa’s heavy investment

Investment firm Hansa Treuhand has intensified its newbuilding
programme in South Korea by ordering a seventh 1,600TEU container ship from
Hanjin Heavy Industries (HHIC). The latest 21,000 dwt newbuilding is
scheduled for delivery in 1998.

HHIC's Youngdo yard in Pusan is responsible for construction of two of
the vessels while the other five are due to be built at its Ulsan facilities.

The first and second vessels were ordered by Hansa Treuhand in April last
year, followed rapidly by confirmation of four options. HHIC's seventh
confirmation has strengthened its relationship with Hanjin Shipping which
accounts for 60 per cent of its business.

Variant 3
I. Translate the sentences from Russian into English using Passive Voice.
Mind the Tenses:

1. ®pykThl, MACO U MOJOYHAS MPOIYKIHUS MEPEBO3ATCS B pepUKEPATOPHBIX
TprOMax.

2. Bo Bpems XODOBBIX HCIBITAHUN CYIHO M €ro 00OpyIOBaHHE MOTYT OBITH
HUCIIBITaAHbI CaAMBbIM TIIATCJIbHBIM O6p8,30M.

3. Ceroans k 6 yacaM Bedepa KOHTEHHEPHI Oy IyT MOTPYKEHBI HA OOPT CyIHA.

4. MHoro cy0B ObLJIO OCTPOEHO JJI Hallel KoMIaHuu 3a nociennue 10 ner.

5. Ceiliuac BMECTO KIJCMKH HCIOJB3YETCS CBapKa I COCIUHEHUS JIMCTOB
McETaia.

6. TomnuBo mepexkauynBagoch Ha OOPT CyJHA MOIIHBIMM HAacOoCaMH BYepa B
TEYEHHE S5 YaCOB.

7. Yuebnoe cynno «IIpodeccop Omenkoy» 6s110 moctpoeno B 1971 rony.

8. Kanwuran ckazan, 4ro HEOOXOAMMBIE 3aMYacTH YK€ JOCTaBJICHBbI Ha OOpPT
CyJHa.

9. HoBblif KOHTEITHEPOBO3 ISl Halllel KOMITAaHUU OyJeT MOCTpoeH uepe3 15
MCECIILICB.

10. Ilocne TOro Kak CyHO CIYIIEHO HA BOAY, OHO YKOMIIJIEKTOBBIBAETCSI.

I1. Give the corresponding Russian equivalents to the following technical
abbreviations:
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Ro-Ro, rev/min, Lo-Lo, grt, km, Ibp, NCR, LR, c.p.p., bhp.

I11. Translate the given text into Russian:
Pertamina chooses Pan United

Pan United Shipyard has gained two contracts worth some S$66 million
(%47 million) to build two 17,500 dwt double-hulled tankers for use by
Indonesian oil company Pertamina. The contracts are awarded separately by
shipowners Asian Eternal Shipping and Labroy Marine both of which will be
chartering the vessels to Pertamina.

The tankers, to be classed by ABS, are designed for crude oil transportation
in the Asian region. Pan United says they will be the largest double-hulled crude
oil tankers to be built in Singapore since the IMO regulations came into effect in
1995.

Due for delivery in 1998, the tankers will have a MAN B&W 7S35MC
type main engine, a cruising speed of 13 knots, and cargo capacity of 23,700 m®.

4.3 TUITIOBBIE 3ATAHUSA AJ51 DK3AMEHA 110 OCBOEHUIO
PA3JIEJIOB / TEM |1 KYPCA.

4.3.1 TAKET 9K3AMEHATOPA
4.3.1.1 YCJIOBUA

Jenenue Ha noArpyImisl, KoauyecTBo 10 KypcaHTOB.

KonudecTBo BapraHTOB 3a1aHus JIJIs 9K3aMeHyroterocs: — 10

Bpewms BoinonHeHus 3aganusa —30 MUHYT Ha IOATOTOBKY.

O6opynoBaHue: MOPCKUE aHTJIMMUCKUN KapThl, OPUTUHAIBI MOPCKUX JIOIUH,
CHEIHUAIM3UPOBAHHBIA AHIJIO-PYCCKUN MOPCKOM CIIOBAaphb.
DK3aMeHaIMOHHAs BEIOMOCTh (MJIA OIICHOYHBIH JIUCT).

4.3.1.2 KPUTEPUU OLIEHKH

Ouenka «5» (0TJIM4YHO) - OTBeT NOHBIN. [Toka3zaHo BiajgeHHE HOPMATUBHOM
(GOHETUKON aHTJIMICKOTO S3bIKA. Y CTHOE BBICKA3bIBAHUE CTPOUTCS JIOTHYHO H
IpPaMOTHO, PEaKIys Ha BOIMPOCHl MO Teme ObicTpas. [IpaBMIIBHO HCHOIB3YIOTCS
S3BIKOBBIE HOPMBI TPUMEHUTENBHO K Pa3HbIM (DYHKIIMOHAIBHBIM  CTHJISIM.
[Ioka3aHo 3HaHWE MOPCKOW TEPMHUHOJIOTHHM, I'PAMMAaTHYECKUX IIPABUJI YMEHHUE
JIEMOHCTPUPOBATh CIOCOOHOCTH TOBOPUTH Ha  SI3bIKE. CamocTtoaTensHo
BBISIBJITFOTCSI M OOBSICHSIOTCS OIITMOKH.

Ounenka «4» (xopomo) - OtBer noaHeid. [lokazaHo BiIageHre HOPMATUBHOM
(OHETUKON aHTJIUUCKOTO SI3bIKa, HO BO3MOXXHBI HE3HAYUTEJIbHBIE HETOYHOCTH.
[IpaBUIBbHO HCHONB3YIOTCA SI3BIKOBBIE HOPMBI MPUMEHHUTENBHO K Pa3HbIM
(GYHKIIMOHATBHBIM CTUJISIM.  J[aHBI XOpOIlIME OTBETHI HAa BOMPOCHI IK3aMEHATOpa.
YCTHOE BBICKa3bIBAHUE CTPOUTCS JIOTMYHO W TPAMOTHO, HO JIONYIIEHBI
HETOYHOCTH. ITokazaHo  3HaHME€  MOPCKOW  TEPMHUHOJIOTHHM,  YMEHHE

ACMOHCTPHUPOBATDH CITOCOOHOCTh roBOpUTb Ha  A3BIKC, HCIIOJIB3YyCMOM B
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panuoTeneOHHON CBSI3W W MOHUMATh €ro Ha TpeOyemMoM paboyeM ypOBHE, HO
JIONYIIIEHbl HETOYHOCTH. CamocrositenbHO  BoIABISIIOTCS  70%  OmIMOOK,
JIOMTyCKAIOTCS HEKOTOPHIE 3aTPYIHEHUS.

Onenka «3» (yaoBJIeTBOPHUTEIbHO) - OTBET HEIOJHBIM. YCTHas Tema
pacKpbITa HE MOJHOCTHIO, BOMPOCHI HE BCET/1a MPAaBUILHO TOHUMAIOTCS, B OTBETaX
Ha BONPOCHI JIOMYIIEHbl OIIMOKW. 3aJaHusi BBINOJHEHbI, OJIHAKO, CO
3HAYUTEIBHBIM KOJMYECTBOM OIIUOOK. YCcTHOE BBICKA3bIBAHHE CTPOMUTCS
HEJOTUYHO U CO 3HAYUTEIBHBIM KOJIUYECTBOM (DOHETUUYECKUX M TPAMMATUYECKHUX
ommnbok. [lokazaHo HEJOCTaTOYHOE 3HAHHWE MOPCKOM  TEPMHUHOJIOTHH,
rpaMMaTUYECKUX TPaBuUI, HEJJOCTATOYHOE yMEHUE JEMOHCTPUPOBATH
CIIOCOOHOCTH TOBOPUTH Ha si3bike. CaMOCTOSITENbHO BbIsiBIIAETCS 10 50% O1IMOOK.
He BIonHEe npaBuiIbHO UCHOJIB3YETCS SI3bIKOBAsi HOpMA MIPUMEHHUTENIBHO K Pa3HbIM
(YHKIITMOHATBHBIM CTUJISIM.

Ouenka «2» (HeyIOBJIETBOPUTEIbHO) - OtBeT HenosiHbA. CojaepkaHue
YCTHON TEMbI HE PACKPBITO, HET PEAKIIMU Ha BOIPOCHI. YCTHOE BBICKA3bIBAHUE
MOCTPOCHO HEJIOTUYHO, C MHOXECTBOM (POHETHYECKHX, JIGKCUUECKUX U
rpaMMaThuueckux  omuoOok. IlokazaHo HeENOCTaTOYHOE 3HAHUE  MOPCKOMU
TEPMUHOJIOTHH, rpaMMaTUYECKUX paBul, HEJIOCTATOYHOE YMEHHE
JIEMOHCTPUPOBATh CIOCOOHOCTh TOBOPUTH Ha s3bIke. BbIMONHEHHE 3ajaHuil He
cOoOTBETCTBYeT TpeboBanusiM. CaMOCTOSITeNIbHO BbIsiBIsieTcss He Oosiee 30%
rpaMMaTHYecKux omuOoK. HempaBmibHO UMCHONB3YyeTCA S3BIKOBask HOpMa
MPUMEHUTENHHO K Pa3HBbIM (DYHKIIMOHAIBHBIM CTHIISIM.

4.3.2 DK3AMEHAIITMOHHBIA MATEPHAJI
Oobpa3zen OmJiera.
S5K3AMEHAIMOHHBINA BUJET Ne 1

Jlucimiuinaa: AHTJIMHACKHU SI3BIK

CrnennaiprHoCTh:  «OIIY Ty 2 Kypc

1. Speak on :
2. Do the Grammar task.
3. Translate commands from English into Russian and from Russian into English.

1) Tembl U1 yCTHOTO COOECEIOBAHUSL:

Types of ships.

Ships may be classed according to the kind of propelling machinery into
steamships ,motor-ships, sailing vessels, turbine-driven ships and atomic-driven
ships. The primary function of merchant ships is to transport cargo and passengers
safely, speedily and economically. According to their designation ships can be
divided into dry-cargo ships (freighters), passenger liners, tankers, fishing ships,
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auxiliary ships. Auxiliary ships are tugs, salvage vessels, ice breakers, dredgers,
cable-laying ships, barges and lighters. Tugs are used to tow ships in and out of the
port. Ice-breakers clear the way to the ships in severe winters and conduct ships
through the ice. Salvage vessels are used for salvage operations. Dry-cargo ships
are subdivided into bulk carriers (ore-carriers, coal-carriers, grain carriers),
general-purpose ships ,Ro-Ro ships, multipurpose ships, container ships, ferries
and reefers.

In dependence of cargo handling method dry-cargo ships are classed into:
RO-RO ships, Lo-Lo ships Fo-Fo ships and hybrid vessels.

Ship’s construction.

The main parts of a ship are: hull, decks and deck superstructure. The main
body of a ship is called the hull. The foremost part of the hull is called the bow; the
rearmost part is called the stern; the part in between is called amidships. The hull
is the area between the main deck, the sides (port and starboard) and the bottom.
The hull is made up of frames covered with plating. The part of the hull below
water is the ship’s underwater body. The distance between the waterline and the
main deck is the vessel’s freeboard. The hull is divided into a number of watertight
compartments by decks and bulkheads. Bulkheads are vertical steel walls going
across the ship and along. The hull contains the engine-room, cargo spaces and a
number of tanks. In dry-cargo vessels the cargo space is divided into holds. In
liquid-cargo vessels the cargo space is divided into tanks. They are used for fresh
water and fuel.

Parts of ships.

The main parts of a ship are: hull, decks and deck superstructure. Decks have
different names, such as: upper deck, lower deck, main deck.

The forward part of a ship is called the bow, the after part is called the stern
(aft).

The forward raised part of the deck is called forecastle, the after part is called
the poop. Accommodation for the crew in cargo ships usually in the superstructure
amidships.

Cargo ships have cargo holds with hatchways. The hatchways are closed by
means of hatch covers. Cargo may be also stowed in tween deck.

The double bottom is used to carry fresh water, water ballast and fuel oil.

The deck machinery of a ship consists of derricks, cargo winches, windlasses,
capstans.

2) Grammar task:

Translate into English:
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1. Tperuii MexaHUK JODKEH COJEPKATh B TIOPSJIKE BCE MPUOOPHI K HHCTPYMEHTHI
B MaIlTUHHOM OTJIEJICHUH.
2. Ham 6o1MaH MOXET OTPEMOHTHPOBATH Pa3HbIE MPUOOPHI.
3. BbI 1omxHBI OpaTh JIOIMaHa B 3TOM KaHaJIe.
4. CynoBele MEXaHWUKH JOJDKHBI XOpOIIO 3HATh AaHTJIMACKUH, T. K. 3TO
MEXKYHAPOIHBIN MOPCKOM SI3BIK.
5. BaxTeHHBII MEXaHHK MOXET ONpeNeisaTh HEMOJAJKU TMpPU MOMOIIH
TECTUPYIOIIETO 000PYAOBaHUS.
6. ['py30BOIi MOMOIIHUK JOJDKEH COCTABJISITH TPY30BOM IUIAH TEpeln KakIoiu
MOTPY3KOM.

to determine troubles - onpenensaTs HemoaaKu

to make up the cargo-plan - coctaBiaTh rpy30Boi IJIaH

before - mepen (wem-nmu00), Iepes TEM Kak, JI0 TOTO

to take a pilot - 6pate morMana

canal - xkaran

1. BaxTeHHBII MEXaHWK [eJaeT 3aluCcd B CYJAOBOM >KypHajie MAalllUHHOTO
OT/ICJICHUS] BO BPEMS BaXThl.
BaxTeHHBI NOMOIIHUK CIAEAUT 3a JBHXKCHUEM JIPYTUX CYI0B BO BPEMs BaxXThl.
Cyna noaxoJsT K Npuyally C YMEHbIIEHHONW CKOPOCTBIO.
['py30BOI1 HOMOIIIHUK TPOBEPSIET IPY3 B TPIOMAX.
TamoskeHHbIe 0pUIIEPHI TPOUZBOIST IOCMOTP CYJIOB.
JlorMaH 3aBOIUT CYyHO B HOPT.
to make entries into the log-book - nenaTh 3amucu B Cy10BOM KypHase
to monitor the movements of other vessels - cmexnTs 3a nBHXEHUEM
IPYTUX CYIOB
to approach the berth - mogxoauth (MpUOIHKATHCS) K PUYATY
during — Bo Bpems, B TeUeHUE
at reduced speed - ¢ yMEHBIIIEHHON CKOPOCTHIO
to check = to inspect = to examine - npoBepsATH (OCMaTPUBATH)
Customs officer - TamoxeHHUK
to search - mpou3BOIUTH TAMOXKCHHBIN JTOCMOTP
a pilot-orman
t0o manoeuvre - MaHeBpuUpOBaTb,  BECTHU

ok own

BaxTeHHBI NOMOIIIHUK BCTPETUII JIOIIMAHA y Tpana HECKOJIbKO MUHYT Ha3a/l.
Mps1 norpy3uiiu rpy3 Ha nanayOy Buepa.
Crapimii MEXaHHK OCMOTPEJ IJ1aBHbIM JBUTATEIb Yac Ha3a/l.
TpeTuii MTOMONIHUK COCTABUII IJIaH Mepexoa (peiica) 1Ba yaca Ha3a/l.
Kanuran noanucan 10KyMEHTBI Ha IPOLUIOW HEZEIE.

a pilot - noman

at the ladder - y tpamna

the main engine - ri1aBHbBIN IBUraTEIb

to overhaul - ocmaTpuBaTh (C 11€7TBI0 PEMOHTA)

to compose the Passage Plan — cocraBnsth miaH nmepexomaa

to sign the documents - moanMCHIBaTH JOKYMEHTBI

SRl A
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Y KypcaHTOB OyIeT IUIaBIOpPaKTHKa Ha OOpPTy y4eOHOTO CyAHa CIEAYIOIUM

1. Marpocsl OyIyT KpacuTh KOPIIYC B CIEAYIOIEM MECSIe

2. Mpg1 Oyaem TOTOBUTHCS K OTXO/Y 3aBTpa.

3. IlpakTukaHTBl OyAYT CTOATH BaxTy KaXKable 2 yaca.

4. BaxTeHHbII MEXaHUK U MOTOPUCT OYIyT PEMOHTHUPOBATH HACOC.
S.

JIETOM.

6. ATreHT OpraHu3yeT BBIFPY3KY HAILIETO CyJHa 3aBTpa

to paint - xpacurh

to prepare for the departure - roTOBUTBCS K OTXOIY

pump — Hacoc
apprentice - mpakTUKaHT

training vessel — yaeGHoe cymHO

agent - areHt

unloading = discharging — BeIrpy3ka

3) Translate commands from English into Russian and from Russian into English.

CARD Ne 1

FROM ENGLISH INTO RUSSIAN

FROM RUSSIAN INTO ENGLISH

1 | Back her! 1 | Cameblii Maselil Ha3zaz!
2 | Slow ahead ! 2 | Mamuna 6osibliie He HyKHa!
3 | Try the engine ! 3 | Ionnsenii Hazay !
4 | Half astern ! 4 | IlpuroroBuTh MamuHy !
5 | Faster! 5 | Ionuerit Briepen !
CARD Ne 2
FROM ENGLISH INTO RUSSIAN FROM RUSSIAN INTO ENGLISH
1 | Full speed ahead ! 1 | Cron mammHa !
2 | Slow astern ! 2 | Camsblil ManbIit Ha3ax !
3 | Back her! 3 | OnpoboBarh MamuHy !
4 | Half astern ! 4 | Maeiii Buiepen !
5 | Slower! 5 | Cpennwuii Hazan!
CARD Ne 3
FROM ENGLISH INTO RUSSIAN FROM RUSSIAN INTO ENGLISH
1 | Finish with the engine ! 1 | IlpuroroBuTH MaImuAHy !
2 | Full speed ahead ! 2 | Camprit Manblii Briepe !
3 | Goastern! 3 | Cpennwuii Bepes !
4 | Half astern ! 4 | Cton mammHa !
5 | Steady so ! 5 | 3agauii xox !
CARD Ne 4
FROM ENGLISH INTO RUSSIAN FROM RUSSIAN INTO ENGLISH
1 | Go astern! 1 | IlpuroroBUTH MaIuAHY !
2 | Try the engine ! 2 | Cpennuii Briepen !
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3 | Full speed astern ! 3 | Campblii Maiblit Ha3an !
4 | Dead slow ahead ! 4 | Mausrii Buepen !
5 | Half astern ! 5 | Bonbme xox !
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Pa3zpaboTuunk:

CaxanmHCKO€e BBICIIEE MOPCKOE
yumiaiie um. T. b. I'y:)keHko

bunmuan MI'Y um. agm. I'. 1.
Hesenbckoro

IMpCoaBaTCIIb

O.H.Ckansckas

(mecTO paboThI)

(3aHMMaeMast 10JIKHOCTb)

(MHULMATBI, (haMUITHS)
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